Slvding roil assembly procedwure

i.Disassemble the slide rail

Features: '
1. 3-sections,ball-bearing easy-mou

design.
2. pull-out lock
3. load rating 1301bs up
4. 0.5”(12.7mm)thickness
5. 1.8”(46.7mm)height
6. max. ext. to 38” long

PUSH DOWN HOOK
TO SEPARATE

Z2.Assemble inner rail to chassis

3 hardware bags included: Fosten B8 screws to fix inner roill en chossis

bagi. : four adjustable brackets(M5 screw hole)
bag2: Ten #10-32 3/8” standard screws e
bag3: 16* Msxiomm Metric Sctews 2"
20* M4x6mm o
10* M4 washer

mount the L-brackets w/M4x6 to the tapped holes on outer rails

4 Mount L shape & exiernal roil to rock frome

g*&* for chassis width
>425mm<430mm

grise M5 screws & adjustable bracket

" to mount L-bracket & main section able brackets, mount the

of rails to the inside of mounting flange g% L-brackets to the inside of
as Figure 2 mounting flange

5. Insert chossis to frome

For chassis width <425mm
mount the L-bracket to the
outside of mounting flange
as Figure 1

| M5 screws & adjust-

Mounting

= rwmm

' 420mm - 430mm

Figure 1

Slide Rail

Slide Rail( Chassis )/
St O, X o 420mm - 430mm

Figure 2

NORCO RL-20, RL-26



7 ! T . —
e ' £ ' 3 : ' = e e =
1. MATERIAL: HIGH STRENGTH CRS i
2 BALL BEARING: LOW CARBON STEEL
3 LUBRICATION:  EXTREME PRESURE POLYMER GREASER lal
4, FIMNISH: ELECTRO-ZIMNC PLATED
5. TEMSILE: 1.2 + dkpalpe
6 TOLERANCE: XX +0.30
X 078
HOLES 1 0.15 K
ANGLE T
7. NOMINAL LOAD RATING: 130 Lbs
sl
TL 685.8+3.0 SL 6604
B16.0
S90.6 E
=175
2794
12328 <
99 187
?515{'5!} fﬁ.w"-.ﬁqu}

lag.7|

(==
oo | 300 ) | 300 [2s0
b X 981

1842

ERTE tﬂ.ﬂ.__._MIIEz 200| | t400

ADOCTYP2 N
TG ] e
; NORCO RL-20
3 CUGTCRCE Py H:
[T Ea:ﬁ:£ nmE%F FHOEA
; EE T TN [T
7 ! ] T B T 4 T T T T




